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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udfteneff gdvem 3Ud w9 U W AWTR SAfarEa: fad |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) weft U wA e €

All the questions are compulsory.
3) U U9 W IW 4 TE IW-Yieaew ¥ @ o |

Write the answer to each question in the given answer-book only.
4) TR ugAt o saite @ug g, 39 9t & IR uh WY § o)

For questions having more than one part the answers to those parts are to
be written together in continuity.
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5) uvA U o e 9 RSl wuR | foRedt yeRr <t 3 / o / ferienyme g W R s & wem
wHl wE A
If there is any error / difference / contradiction in Hindi & English versions of the
question paper, the question of Hindi version should be treated valid.

6) U YA S 3k Tk T

S| 1-13 1

E| 14 -24 2

| 25-27 3

3 28-30 4
Section Q. Nos. Marks per

question

A 1-43 1

B 14 -24 2

C 25-27 3

D 28-30 4

7) weA R 14,27, 28, 29 @ 30 | 3traies faekeu 2
Question Nos. 14, 27, 28, 29 and 30 have internal choices.
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©us - A
SECTION - A
rfeReiisTan st uftwia ik [1]
Define Agamospermy.
w1 ¥ form e B et ok ot fieg(frgm) # ol A g €2 1]

Deficiency of which element in the soil causes Dieback disease of Lemon(Citrus).

SRR & = fufshanen ol 3 FAaTe TeaTgH ot o feTRau? [1]

Write class of enzyme which catalyses the oxidation and reduction reactions.

grey gHH w61 AW foRae St o1 o el A wufd e o wan foren S 22 [1]

Write the name of plant hormone which is used to store potato tubers.

30 dhieh o1 AW fiad faes gt €ua.u. i e afaferfu & st sfafefiat st ditm
A | U <Rl T ekl 2| [1]

Write the name of the technique to make lacs of copies of D.N.A. from a single
copy in very limited time.
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6) =T i uRiya FfR) [1]
Define biogas.

7) ®RR & oernt fFmior h ufshan w IRe A Arelt wiER wowE S 22 [1]
Which blood corpuscles are necessary for starting the process of blood clotting.

8) gfte uewt o 3u fag o A fTRed STaT Vi AT IIeTeht Gt STUTEd Biel 8 2 [1]
Name the point on Retina where both rods and cones are absent.

9) HehehIIH URFEATTIT ot AT A & foTe UTa IR At 38R & a1t g 61 A feala) 1]
Write the name-of hormone which prepares-the human body to face adverse
conditions.

10) = o vem el Hyieeh S gl ¢ ? [1]
In humans what is the first cervical vertebra called.

11) “quur” = TAHITST ? [1]

Explain "Implantation".
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12) Tk § IufRrd SRR S HIOA S Shgeltdl 8 ? [1]

What is the measurement of haemoglobin present in the blood called.

13) TA. 3R, 3E. T G AW fkan [1]
Write the full form of M.R.I.

Qg -9
SECTION - B

14) i) Ferog@ FEa(DPD), wrrw g (OP) & whifd g@ (TP) d wwr feiaw ?

i) Uk vAY FER § OP & DPD e 3id 8 R0t aa1sa ?
[1+1=2]

FUAl
) e faeE(y,), W ey, 3 9 faE(y) | wee ot

i)  sreiurT fEreeh @ fr faermm R v fawa 35 s qen g fawa -5 ar @ s@®
S fawa & o Fife?

1)  Write the relation between Diffusion Pressure Deficit(DPD), Osmotic
Pressure(OP), and Turgor Pressure(TP).

1) "OP and DPD are equivalent in a flaccid cell". Give reason.
OR

1)  Write the relation between Water Potential(y, ), Osmotic Potential(y, ) and
Pressure Potential(\yp).

1) Calculate water potential of solution which is enclosed in a semi permeable
membrane whose Osmotic Potential is —35 bar and Pressure Potential is —5
bar.
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15) i)  uerH Sufeer shifaes deal o 8 SarEd |

i) TR aval St EA % AU TEeT 3R iR U Tk g 2
[1+1=2]

1)  Name the critical elements present in soil.

1) Deficiency symptoms of which elements appear first in apical buds.

16) ‘ot Sframupsistt &1 wEw Aleeh % ®9 A M 13 8 5ot gin 27| 3t hRun ST g 39 HAA H
gfee i) [1+1=2]

"A Bacteriophage is more important vector in comparison to M13". Justify this
statement by giving two reasons.

17) uhiEeiiEm e SR Tt sl auees ? 2]

Explain Agrobacterium mediated gene transfer.

18) WWT A ® UTgy i ATH a1 9T B ® 378 wafaa suntt urgw wm 21 e i gafea it -

[Vax4=2]
T A W B
A. TR ) Yk I Hicrhr
B. e i) Y@ T ke
C. i iif)  yyoTaT
D. i iv) =
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19)

20)

21)

22)

7
Part A contains the plant name and Part B contains useful plant part related to
them. Match the following.

Part A Part B
A. Groundnut )  dry flower buds
B. Coconut i)  dried Rhizomes
C. Clove i) Endosperm
D. Turmeric v) Seed

Hretela Jiarer a1 FREAEeRE fFe TR Sasaieh & U H M & g ? 9Hgngd| 2]

How Bluegreen algae or Cyanobacteria works as biofertilizer? Explain.

VA Geeh 1 T T [1+1=2]

Explain two respiratory disorders.

T 1 AW foReae S widw| ogfeam & uitasia wit Ui wean 2 2 Siod wafeam & afar gn
W IO I il TS| [1+1=2]

Write the name of hormone which induces the development of corpus luteum.
Explain the effect produced due to the damage of corpus luteum.

HHAYSHIV] Y TEEAT 1 quiA R [2]

Describe the structure of human sperm.
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23) = o 9 g o S Safiada & TER S aues| [1+1=2]

24)

) ATGCATGC — ACGCATGC
i) ATGCATGC — ATGAATGC
Explain the type of gene mutation in each of the following
1) ATGCATGC — ACGCATGC

i) ATGCATGC — ATGAATGC

srfiefaferet I & Wrerres 1 AW fkau) 3@ an & 3 F.n 9 S=E % 9 U™ JqEn|
[1+2+12=2]

Name the pathogen of Amoebic dysentery. Mention its two symptoms and two
preventive measures.

©us - "
SECTION - C

25) Uiy SSIUE H ST T T Ui it ? [2+1=3]

Describe the structure of Anatropous ovule with diagram.

26) foEeR ST 1 TRATNG R HUSH & fHet HeuT TENT ht <Ie aie gt |auesa |

[1+1+1=3]

Define dihybrid cross. Explain Mendel's dihybrid cross experiment by checker
board.
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27) uiEH foRan it Afehaut St | SR o TR W AHEEA | kAT Fiet St S9N el ATitehd

o= ==z [2+1=3]
Jreran

T1edt § STETHRT o TUITARE Ul shi THENEE | UTEY hilvTeheT H Siot Haei o T8 WrT i o
E e

Explain the mode of enzyme action on the basis of lowering of Activation energy.
Draw a labelled diagram to show activation energy.

OR

Explain Apoplast pathway of water in plants. Draw a diagram to show major paths
of water flow in plant cells.

©ue — g

SECTION.- D

28) i) TRV WRERIRCIET R whgd 27
i) AT JeRTIT WRRERINGIeRT STk sl TuEmsa|
iil) <A TSI EIEHINGITERTUT SITHTRET <ht S9TH aTeT TG ot sMTeal|
[1+2+1=4]
Y
) wehe § TRt w5 e e
i) e § R % SRR & R W e
iil) TR oh TIRIRTCTSRTOT deh 24 TTetl el Tt siffshanatt o1 s fom sArga|
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10
1)  What is photophosphorylation.

i)  Explain cyclic photophosphorylation reaction.

i) Draw a line diagram to show the reactions of cyclic photophosphorylation.
OR

1)  Write the site of glycolysis in living.

1)  Explain the various steps of phosphorylation of glucose in glycolysis.

i) Draw a line diagram of biochemical reactions upto phosphorylation of glucose.

TS & YO BT AR fort amTeu)
Ty | uter <t ferafafer smEms
[1+3=4]
Frerat
UHE & ScdeiH o= ol ATHITeRa st SAT3U)
e o g7 i i st e @t ememsu

Draw a labelled diagram of human digestive system.
Explain the mechanism of digestion in stomach.

OR
Draw a labelled diagram of human excretory system.

Explain the mechanism of ultrafiltration in Urine formation.
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30) i) WA % AfwTSH H AR (= SIS

i) vnfErs® % auia fif)
i) swfETSH % q wE foReA|
[1+2+1=4]
e
) TR G AR o S|
i) ST i EEAT THEEe
i) wREIE wifvE % q % foaa|

1)  Draw alabelled diagram of human brain.
i)  Describe Cerebrum.
) Write two functions of Cerebrum.
OR
1)  Draw a labelled diagram of male reproductive system.
i)  Explain structure of Testis.

i)  Write two functions of Sertoli cells.

¢ ¢
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